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Beam loss in TT20/TDC2 (400 GeV protons)

Beam loss point in TT20 ... hitting a 10 cm diameter, 1 m long cu-cylinder

15m long concrete block

JUMC

1%o0 protons lost per spill 2 3e10 p/spill
Assuming 16.8s SPS supercycle time -> 1.8e9 protons/s
* 5% protons lost on first splitter in TDC2
Assuming 16.8s SPS supercycle time -> 8.9e10 protons/s




H*(10) (from hadrons & muons) in TT26
1 %0 beam loss in TT20
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Ambient dose equivalent rate in TT26: up to ~100uSv/h



H*(10) (from muons) in TT26
1 %0 beam loss in TT20
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Ambient dose equivalent rate in TT26: up to ~100uSv/h
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H*(10) (from hadrons & muons) in TT26
5 % beam loss on first splitter in TDC2
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Minimum lateral concrete thickness between TT20 and TCD2 is 1.5 m
Ambient dose equivalent rate in TT26: up to ~100 mSv/h (mainly neutron)
Note: we also have a second splitter in TCD2
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H*(10) (from hadrons & muons) in TT26
5 % beam loss on first splitter in TDC2
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~ 9 m concrete needed (laterally to the splitter) to shied to 0.1 uSv/h




